|_ILU.45
N
=
Q‘ 0.4
zZ
yo)
- 0.35
Z
=
0.3
0.25
0.2
0.15
0.1
0.05
N
2
%)
b=
@)
g 1
S
IS
o
0.5

7000 GeV pp Jets
_' I T I T I | I I T I T I T | I T I T I T I_
- Central Transverse Thrust(125 <p,_ < 200) -
. m CMS o
1+ Pythia 6.428 350 n
[ ---&-- Pythia 6.428 351 ]
- ¥-- Pythia 6.428 352 —
IS A~ Pythia 6.428 353 -
[ --0-- Pythia 6.428 354 ]
-2+~ Pythia 6.428 355 N
o Pythia 6.428 356 7
— Pythia 6.428 357 _
Z Pythia 6.428 358 -
[ --=-- Pythia 6.428 359 ’ ;ﬁ@\ —
= A7 N 3
— 25 AW —]
N [ ,?‘fg‘ " [ | \l\% 7]
- [ ] 7 7
u ¥ | -
— [ | /‘é,,’ ‘\‘:\‘ _]
- /g{{ kR
B -7 ‘ W ]
— . ;2@"'/ 1“:‘ ]
L =Tl v
— . -,--‘;-é'%%'f#:{‘ v
i i U T S SN LIS
? kA é
- b
- A

e o
i Wo--memm T ) o [ v-._. v _ ;%,:-: ‘ :
i '**-":"’:‘:':'M—ji A -
________ A______——t—---A
— A_...—— ]
1 1 1 | " 1 1 1 1 | " 1 1 " 1 1
-10 -5

Rivet 3.1.0, = 9.3M events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


